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UNIT 1 – INTRO. TO FINANCIAL PLANNING
S1:  WHAT IS FINANCIAL PLANNING?

I.
DEVELOPMENT OF A DISCIPLINED APPROACH:

COORDINATED

-
TIE TOGETHER

COMPREHENSIVE

-
MULTIFACETED







ALL AREAS

STRATEGIES

-
APPROACHES /







ALTERNATIVES

I. OBJECTIVE:

TO GUIDE A CLIENT’S “TOTAL FINANCIAL AFFAIRS”

II. BASED ON:

THE CLIENT’S INDIVIDUAL DREAMS & GOALS

S2:  WHY IS FINANCIAL PLANNING IMPORTANT?

· < 5% OF THE U.S. POPULATION ACHIEVES FINANCIAL INDEPENDENCE

S3:  WHY DO SO MANY PEOPLE FAIL TO PLAN?


LACK OF KNOWLEDGE


LACK OF THE UNKNOWN / FEAR


COSTS TOO MUCH


NOT WEALTHY ENOUGH


DO NOT KNOW WHERE TO START

S4:  (EGPRIM) THE 6 STEPS TO GETTING STARTING

E  STABLISH OBJECTIVES
G  ATHER DATA
P  ROCESS & ANALYZE INFORMATION
R  ECOMMEND A PLAN OF ACTION
I   MPLEMENT THE PLAN
M ONITOR THE PLAN
S5:  CHARACTERISTICS OF FINANCIAL PLANNING

DYNAMIC vs. STATIC

CONTINUOUS vs. ONLY ONCE

INTERACTIVE vs. ISOLATED

S6:  FOCUSING ON CLIENT OBJECTIVES

I.
PERSONAL RISK PROTECTION
(RISK MANAGEMENT)

· PREMATURE DEATH

· DISABILITY – LOSS OF INCOME

· CATASTROPHIC MEDICAL

· PROPERTY / CASUALTY LOSS

· LIABILITY EXPOSURE

· LONG-TERM CARE

III. LIVING OBJECTIVES
· EMERGENCY FUNDS / LIQUIDITY

· EDUCATIONAL GOALS

· RETIREMENT / FINANCIAL INDEPENDENCE

· STANDARD OF LIVING DESIRES

· TAX MANAGEMENT / REDUCTION

· ASSET PRESERVATION

· CHARITABLE CONTRIBUTIONS

IV. POST MORTEM OBJECTIVES
· SURVIVOR INCOME

· EFFICIENT TRANSFER TO HEIRS

· MINIMIZE ESTATE TAX EROSION

· REDUCE ESTATE SETTLEMENT COSTS / TIME

· PROVIDE FOR SPECIAL DESIRES / WISHES

S7:  IMPROPER OBJECTIVES

I WANT TO BE RICH, TO ENJOY SUCCESS, TO GET HIGH RETURNS WITH LOW RISK ON ALL INVESTMENTS.

S8:  PROPER OBJECTIVES

TO BE VALID, OBJECTIVES MUST BE:

· SPECIFIC

· QUANTIFIABLE

· MEASURABLE

I WOULD LIKE TO RETIRE IN 20 YEARS WITH AFTER-TAX INCOME (TODAY’S DOLLARS) OF $4,000 PER MONTH.

S9:  THE TEST OF REASONABLENESS
APPLY THE FOLLOWING TO DETERMINE IF AN OBJECTIVE CAN BE REASONABLY ATTAINED:

· ANALYZE DOLLARS AMOUNTS

· ANALYZE THE TIME FRAME INVOLVED

· ANALYZE THE CLIENT(S)’ CURRENT RESOURCES

S10:  ESTABLISH PRIORITIES


LEVELS OF 







                   IMPORTANCE








HIGH        MEDIUM       LOW
1.

2.

3.

4.

5.

S11:  DATA GATHERING – 

QUALITATIVE VS. QUANTITATIVE

QUALITATIVE DATA
(RELATING TO QUALITIES / NOT NUMBERS)

· LIFESTYLE CHARACTERISTICS

· HEALTH STATUS

· LEVEL OF INVESTMENT KNOWLEDGE

· RISK TOLERANCE

· PROPENSITY FOR DETAIL

· INTERESTS, HOBBIES, ENTERTAINMENT

QUANTITATIVE DATA
(RELATING TO NUMBERS)

· DATA GATHERING FORM  -  4 TO 6 PAGES OF INFORMATION TO BUILD A PLAN FOR THE CLIENT.

S12:  SOURCE DOCUMENTS

I. ASSETS / LIABILITIES

· BANK STATEMENTS

· BROKERAGE STATEMENTS

· RETIREMENT PLAN STATEMENTS

· INSURANCE STATEMENTS

· ANNUITIES

II. CASH FLOW

· PAYCHECK STUBS

· DEBT (AMORTIZATION) SCHEDULES

· TAX RETURNS

· ALIMONY / CHILD SUPPORT DOCUMENTS

· SPECIAL NEEDS –         UPCOMING MARRIAGE

CHILDREN W/ PROBLEMS

III. OTHER

· WILLS

· TRUST DOCUMENTS

· LIFE INSURANCE POLICIES

· EMPLOYEE BENEFITS STATEMENTS

· ASSETS IN THE CHILDREN’S NAME

S13:  PRACTICE CASE STUDY

TOM & GINA E. X. AMPLE
DIRECTIONS:  Read each line carefully and place an appropriate check in the corresponding columns that apply to the designated scenario.






             Quant.
       Qual.
 B.S.        C.F.
1. Married 4 yrs.; live in Orlando

2. Three sons, ages 10, 6, 3

3. Own a home, $950 / mo.

4. Good health; enjoy golf, running

5. Tom – Mgr.; $45,000 / yr.

6. Gina – housewife

7. 20xx Jeep Cherokee Laredo (Paid)

FMV = $27,500

8. 20xx Toyota minivan 

FMV = $31,000; mo. pmt. = $325

9. Inherited land; FMV $12,000

10. Personal property = $12,000

11. Checking account = $293

12. Savings account = $1,500

13. Tom’s 401k = $8,900

14. Tom – employer life ins. 2 x salary

15. Tom’s personal life insurance 

w/ State Farm Insurance - $100,000 face;

cash value = $1,400

16. Auto insurance premiums - $917.71 per yr.

17. Inherited beach condo – FMV = $95,000

18. Want to purchase a boat in 5 years

19. Want to begin saving for college this yr.

20. Other living expenses = $43,000

21. Credit card balances = $5,200 (19.8%)

STATEMENT OF FINANCIAL POSITION

(AS OF ____________________)

“SNAP SHOT”  -  POINT IN TIME

ASSETS  -
What you own

LIABILITIES  -
What you owe

CASH/EQUIVALENTS
INVESTMENTS







TOTAL LIABILITIES   $




PERSONAL USE



NET WORTH    $








(Assets minus Liabilities)












TOTAL ASSETS: 

 


LIABILITIES & NET WORTH 

 $






         $

CASH FLOW STATEMENT
(FOR THE PERIOD ENDING ______________)

INFLOWS

$                                                   









TOTAL INFLOWS:

$ 




OUTFLOWS
SAVINGS & INVESTMENTS



$ 

FIXED:

$ 










TOTAL FIXED:

$




VARIABLE:

$












TOTAL VARIABLE:
$





TOTAL OUTFLOWS:
$ 

PROJECT:  HOW MUCH DOES IT COST TO LIVE?
DIRECTIONS:  You have just graduated from college and received your first job.  The job requires you to move to a new city (Orlando, FL) where you do not know anyone.  To prepare for your move, you are to create a Personal Cash Flow Statement & a Personal Statement of Financial Position outlining your current situation.



  


S14:  THE COMPREHENSIVE FINANCIAL PLAN

I. OBJECTIVES  (WHERE THE CLIENT WANTS TO GO)

· PRIORITIZED

· QUANTIFIED

· PRAGMATIC TESTS

USEFUL TO CLARIFY INTO DIFFERING TIME HORIZONS

· SHORT-TERM – 1 YEAR OR LESS 

· INTERMEDIATE TERM – 1 TO 3 YEARS

· LONG TERM – 3 YEARS AND BEYOND

II.
CURRENT SITUATION  (WHERE THE CLIENT IS TODAY)


THE FOLLOWING AREAS PROVIDE A STARTING POINT:

· BALANCE STATEMENT (SHEET)

· INCOME STATEMENT (CASH FLOWS)

· INCOME TAXES – PREVIOUS YEARS’ FILINGS

· STRENGTHS & WEAKNESSES

· RESOURCES & CONSTRAINTS

III.
RISK MANAGEMENT  (CATASTROPHIC RISK PROTECTION)

· LIFE

· DISABILITY

· HEALTH

· LONG TERM CARE

· AUTO

· HOMEOWNER

· BUSINESS RISKS

· UMBRELLA

S15:  RECOMMENDATIONS

GENERATED WITHIN THE CONTEXT OF:

· CLIENT OBJECTIVES

· CLIENT CONSTRAINTS

· CLIENT RISK TOLERANCE

· ECONOMIC ENVIRONMENT

1. IDENTIFY STRATEGIES AND PRODUCTS

2. EVALUATE ALTERNATIVES

3. SELECT MOST APPROPRIATE (RISK-ADJUSTED)

S16:  IMPLEMENTATION
1. RISK MANAGEMENT & INVESTMENTS

2. COORDINATION WITH OTHER PROFESSIONALS

S17:  MONITORING
1. PERFORMANCE  (TRACKING)

2.
CHANGES:
CLIENT OBJECTIVES / CIRCUMSTANCES




NEW PRODUCTS




TAX LAWS




ECONOMIC CONDITIONS

2. PERIODIC REVIEWS

S18:  CLIENT PSYCHOLOGY

· FEAR:


LITTLE KNOWLEDGE AND/OR EXPERIENCE





LACK OF CONFIDENCE 





FEAR = PROCRASTINATION = LOSS OF TIME
· RISK
TOLERANCES: 

RISK TOLERANT





RISK NEUTRAL





RISK AVERSIVE

· CONTROL:

ACTIVE PARTICIPATION

PASSIVE PARTICIPATION

· LIFE CYCLES:

STARTER

ACCUMULATOR

CONSERVATOR

UNIT 1 SUPPLEMENTARY MATERIALS
I. FINANCIAL PROBLEMS IN EVERYONES’ LIVES CAN BE CATEGORIZED 

BY THE ACRONYMN LIVES.

L  ACK OF LIQUIDITY

I   NFLATION
    NADEQUATE RESOURCES

    MPROPER DISTRIBUTION OF ASSETS

V  ALUE

E  XCESSIVE TAXES
S  PECIAL NEEDS
II. EVERY FINANCIAL DECISION SHOULD TAKE INTO CONSIDERATION:

· TAXES

· WEALTH MANAGEMENT

· RISK / REWARD PRINCIPLES

· RETIREMENT PLANNING

· ESTATE PLANNING

III. GOLDEN PRINCIPLES OF FINANCIAL PLANNING

1. COVER YOUR ASSETS BEFORE TAKING GREATER RISK.

2. SEEK 1ST A RETURN OF INVESTMENT BEFORE SEEKING A RETURN ON INVESTMENT.

3. WITHOUT LIQUIDITY & MARKETABLILITY, THERE IS NO FLEXIBILITY.

4. IT IS AS IMPORTANT TO INCREASE THE RATE OF INVESTING AS IT IS TO INCREASE THE RATE OF RETURN.

5. INCREASE EXPENDITURES AT A LOWER RATE THAN YOU INCREASE YOUR INCOME.

6. TURN TOP TAX DOLLARS INTO ASSETS WITHOUT UNDUE RISK:

· TRANSFER WEALTH FROM ONE GENERATION TO ANOTHER

· USE THE GIFT TAX EXCLUSION TO SHIFT INCOME TO LOWER TAX BRACKETS

· DEFER INCOME TO LATER TAX YEARS MAY ELIMINATE TAXES OR THE AMOUNT OWED IN LATER YEARS DUE TO LOWER TAX BRACKETS

IV. RISK MANAGEMENT / INSURANCE  (GUIDELINES)

INSURE ONLY WHAT IS OF MEASURABLE VALUE OR CANNOT BE EASILY REPLACED:

· PROPERTY (FIRE, STORM, LOSS, THEFT)

· INCOME (DEATH, ACCIDENT)

· LIABILITY

V. RISK  -  ALWAYS USE THE LOWEST RISK SOLUTION THAT SATISFIES THE NEED.

VI. PATIENCE & DISCIPLINE ARE THE PARENTS OF FINANCIAL SUCCESS.

VII. UNDERSTAND THE SITUATION AND WHETHER IT IS BETTER TO OWN OR TO LOAN.

VIII. DIVERSIFICATION TO REDUCE FINANCIAL RISK & PURCHASING POWER RISK IS THE WAY TO GO.

IX. BORROW ONLY WHEN THE RETURN ON THE INVESTMENT IS > (AFTER TAXES) THAN THE COST OF BORROWING.

X. TAX LEVERAGE (DEFERRING TAXES) ALLOWS AN INVESTOR TO USE MONEY THAT WOULD HAVE BEEN PAID TO UNCLE SAM TO EARN ADDITIONAL RETURNS ON INVESTMENT.

XI. WHEN PLANNING FOR RETIREMENT, ASSUME A LOWER-THAN-HOPED FOR RATE OF RETURN ON INVESTMENTS, A HIGHER-THAN-ANTICIPATED LEVEL OF INFLATION & COST OF LIVING, AND PUT LESS RELIANCE ON SOCIAL SECURITY OR PENSIONS.

XII. RETIREMENT:  THE 3 LEGGED STOOL

1. PENSIONS (RETIREMENT PLANS)

2. SOCIAL SECURITY

3. PERSONAL SAVINGS & INVESTMENTS

XIII. INFLATION DURING THE PAST 15 YEARS IS APPROX. 6%

XIV. 3 TYPES OF RISK IN FINANCIAL PLANNING:

1. FINANCIAL RISK

2. PURCHASING POWER RISK

3. OPPORTUNITY COSTS RISK

XV. INADEQUATE LEVELS OF CASH OFTEN TRANSLATES INTO FORCED SALE OR LOST OPPORTUNITIES.

XVI. ALWAYS FOCUS ON THE BOTTOM LINE.  THE ONLY FINANCIAL SECURITY THAT YOU HAVE IS WHAT IS LEFT AFTER:

1. TAXES

2. INFLATION

3. TRANSFER COSTS

XVII. RISK & THE FINANCIAL PLANNING PROCESS:  

· FEELINGS ABOUT INVESTMENT RISK, PERSONAL FINANCIAL SECURITY AND INDEPENDENCE ARE JUST AS IMPORTANT AS THE INCOME STATEMENT.

· ATTITUDES TOWARDS RISK ARE VERY DIFFICULT TO MEASURE AND WILL CHANGE OVER A FAMILY’S LIFE CYCLE.

· CHARACTERISTICS OF RISK TOLERANT & RISK AVERSIVE PERSONS:

1. FEMALES ARE MORE AVERSIVE.

2. RISK AVERSIVENESS INCREASES WITH AGE.

3. THE FIRST BORN TENDS TO BE MORE AVERSE.

4. UNMARRIED INDIVIDUALS ARE PRONE TO TAKE MORE RISKS.

5. PEOPLE WHO WORK ON COMMISSION ARE GENERALLY MORE RISK TOLERANT.

6. SUCCESSFUL INDIVIDUALS AT WORK TEND TO TAKE MORE RISKS.

7. RISK AVERSIVENESS TENDS TO DECREASE WITH INCREASING WEALTH & INCOME.

· AS COMPARED WITH RISK-TAKERS, RISK-AVOIDERS TEND TO WANT MORE INFORMATION, NEED TO BE IN MORE CONTROL, AND SHOULD THEREFORE BE GIVEN MORE ATTENTION BY THE FINANCIAL PLANNER.

· IN GENERAL, PEOPLE TEND TO BE RISK-AVERSIVE.

· RISK TOLERANCE IS GREATER IF THE OUTCOME OF THE DECISION WILL OCCUR LATER THAN SOONER.

XVIII. INDIVIDUALS AND FAMILIES SHOULD HAVE OBJECTIVES IN:

· STANDARD OF LIVING

· SAVINGS

· PROTECTION

· ACCUMULATION

· FINANCIAL INDEPENDENCE

· ESTATE PLANNING

S19:  UNIT 1 COLLABORATIVE LEARNING STUDY

Directions:  On Friday, Mr. & Mrs. Client visited your office for assistance with their personal finances.  After discussing the financial planning process with Mr. & Mrs. Client, the couple returned on Monday with the following information.  Using the information, prepare a Statement of Financial Position and Cash Flow Statement for the Clients.

PERSONAL DATA
Chris Client
Age 41

DOB 3/31/19xx
SS# 123-45-6789

Engineer
AAA Aerospace
River Road
Orlando, FL

Carly Client
Age 38

DOB
2/17/19xx
SS# 246-80-1357

Teacher
Orange County Public Schools
Smart Lane
Orlando, FL

Children:

Carl

Age 12

DOB
1/1/20xx
SS# 111-22-3333

Colleen
Age 7

DOB
11/12/20xx
SS# 222-33-4444

Goal:
Want to fund education needs of $10,000 (today’s dollars) at a state university for each child.  Have not currently saved any money for college tuition and expenses.

Debt:  Owe $5,780 on VISA from vacation to Europe; paying $200 per month.

INCOME DATA
Chris

$80,000/yr base salary

Carly

$41,100/yr. base salary

RESIDENCE





INSURANCE
4 Bedroom House, FMV = $245,000


Personal Property = $50,000

Purchase 1999 - $119,500



Liability = $300,000/Occ.

Mortgage of $115,000 @ 10%, 30 years

Medical = $5,000 per accident

Furnishings = $20,000



Deductible = $500 
1st Pmt. – 6/1/99




Mo. Premium = $175
Property Tax = $2,173/yr.

AUTOMOBILES




AUTO INSURANCE
2009 New Ford Expedition   Cost $32,900

PIP

Current Value = $16,500



$100,000/accident – Liability

Borrowed $25,000 @ 7%



$10,000/per accident – Medical

5 Yr. Loan; 1st pmt. 12/1/09 



$30,000/accident – Uninsured Mot.

1996 Honda Accord
Cost $19,599


ACV – Damage

Current Value = $2,500



$250 Deductible

Paid Off





$1,938/per year – Premiums

LIFE INSURANCE
INSURED:

Chris

Chris

Chris

Carly

POLICY TYPE:
Group Term
Group Term
Whole Life
Group Term

FACE AMTS.

$50,000
$100,000
$10,000
$35,000

PREMIUMS:

Employer
$400

$150

$275

CASH VALUE:
0

0

$5,000

0
LOANS:

0

0

0

0

BENEFICIARY:
Carly

Carly

Carly

Chris

DISABILITY COVERAGE
Chris has long-term coverage equal to 50% of compensation fully paid by employer.  Payments begin 120 days after disability to age 65.  Carly has no coverage.

Additional Disability Coverage:  SunTrust, Inc.  $1,500 accidental death/disability policy paid for by the bank.

MEDICAL COVERAGE
Paid by employer for Chris; $490/mo. paid by Chris for coverage of two dependents.  Carly’s coverage paid for by OCPS.

PERSONAL SAVINGS & INVESTMENT ACCOUNTS

I.
CENTRAL FLORIDA EDUCATORS CREDIT UNION:

Checking

    
Money Market


12 Mo. Certificate of Deposit

Balance: $2,060

Balance: $5,511

Balance:  $4,000

Interest: N/A


Interest:   1.50%

Interest:    1.75%

II. DODGE & COX STOCK FUND A (MUTUAL FUND) – Symbol DODGX
470.345 Shares @ $11.82 per share

Cost of Shares:  $7,500

Dividend & Capital Gains:  5%

* Use the closing price on _____________

III. 200 SHARES – WALT DISNEY

FMV = $_____________
Inherited all 200 shares.

Price/share DOD = 49 ¼

Yield on stock = 6.70%

IV. BANK OF AMERICA 

Chris – Individual Retirement Account

Balance: $8,000 – Currently contributes the maximum annual allowance.
Carly – Individual Retirement Account

Balance: $8,000 - Currently contributes the maximum annual allowance.
V. 401 (K) PLAN – CHRIS

Contributes 5% to fixed account annually.

Employer Match -- $50% of first 4% of annual base salary.

Current Value = $29,260; 4.5%


How much does the company contribute annually? $____________
GOALS & OBJECTIVES
1. Financial independence:  Retire: age 60; after-tax income of $5,000/mo. (today’s dollars); no debt.

2. Tax Management:  Reduce at least $2,500/year.

3. Life Insurance:  $3,000/mo. supplemental income for Carly after debt service and education needs.

4. Education Funding:  (As noted previously)

5. Other:  Proper estate plan; other insurance protection.

ADDITIONAL INFORMATION
Other Living Expenses
Church 
$40/wk.
Autos
$100/mo.

Home Repair
$100/mo.

Tax Prep.
$350/yr.
Enter. 
$300/mo.

Golf

$100/mo.

Food

$600/mo.
Paper
$15/mo.

Gifts

$2,000/yr.

Utilities
$125/mo.
Travel
$1,200/yr.

Cash Needs
$400/mo.

Telephone
$32/mo.
Misc.
$100/mo.

Cellular
$125/mo.

Clothing
$150/mo.
Charities $500/yr

DSL

$125/mo.
Debt Schedules





Total Paid

Total Paid


Mo. Pmt.

Principal

Interest

Curr. Bal.

Home 

Mortgage
$1,009.21
      
      ?


    ?                        ?

Expedition
$495.03

      ?


     ?
                   ?

· Note:  Use your previous learning about AMORTIZATION SCHEDULES to fill-in-the-blanks.
Hint: How many payments have been made on each loan?
STATEMENT OF FINANCIAL POSITION

(AS OF ____________________)

“SNAP SHOT”  -  POINT IN TIME

ASSETS  -
What you own

LIABILITIES  -
What you owe

INVESTMENTS







TOTAL LIABILITIES   $




PERSONAL USE



NET WORTH    $








(Assets minus Liabilities)












TOTAL ASSETS: 

 


LIABILITIES & NET WORTH 

 $






         $

CASH FLOW STATEMENT
(FOR THE PERIOD ENDING ______________)

INFLOWS

$                                                   









TOTAL INFLOWS:

$ 




OUTFLOWS
SAVINGS & INVESTMENTS



$ 

FIXED:

$ 










TOTAL FIXED:

$




VARIABLE:

$












TOTAL VARIABLE:
$





TOTAL OUTFLOWS:
$ 

UNIT 2 – ANALYZING CLIENT INFORMATION
S1:  THE CURRENT RATE OF RETURN MATRIX

Asset


Current

Est. Avg.

% of
        Weighted

       Description

Amount

 Return


Total
         Est. ROI
NOT TAXED








SUB-TOTAL:






100%

TAXED







SUB-TOTAL:






100%








times

         (1-mtb)










AFTER-TAX:

NOT TAXED

CURRENTLY TAXED


TOTAL:









   AFTER TAX ROI:


KEY OBSERVATIONS:



S2:  CASH RESERVES:  “LIQUIDITY” – HOW MUCH?
CASH RESEVES REPRESENT THOSE DOLLARS WE CAN COUNT ON

AT ANY TIME; DOLLARS TO COVER EMERGENCIES, KNOWN NEAR TERM LIABILITIES, AND INVESTMENT OPPORTUNITIES.

I.
MARKETABILITY VS. LIQUIDITY

“MARKETABILITIY” 
- 
EASE OF BUYING OR SELLING ASSETS

“LIQUIDITY”                        -
EASE OF CONVERTING ASSETS TO CASH WITHOUT THE LOSS OF VALUE
II.
LIQUIDITY CONTINUM

Checking       Savings          Money Markets      Cd’s       Bonds
       Mutual Funds         Stocks
Commodities

IV. LIQUIDITY ANALYSIS
3 Months

6 Months
Living Expenses

Excess Tax Liability

Investment Commitments


Other:



Total Need



Current Cash


Excess / (Shortfall)

Other Marketable Securities:

S3:  DIVERSIFICATION:  DEBT VS. EQUITY
DEFINED AS “ALLOCATION OF INVESTMENTS BY DIFFERING TYPES OF INVESTMENTS WITH DIFFERING CORRELATIONS.”

I. “DEBT-BASED”  -  FIXED INCOME TYPE OF ACCOUNTS

EXAMPLES:

· SAVINGS

· CD’S

· IRA’S

· BONDS

· MONEY MARKETS




                   =                      %

          TOTAL

II. “EQUITY-BASED”  -  GROWTH-ORIENTED TYPE OF ACCOUNTS

EXAMPLES:

· MUTUAL FUNDS

· STOCKS












       =
                   %









         TOTAL

S4:  TAX ADVANTAGED  -  TAX FREE / TAX DEFERRED


NOT CURRENTLY TAXED

=


=

%


CURRENTLY TAXED

=


=

%

S5:  PERSONAL USE ASSETS  -  CURRENT CONSUMPTION


PERSONAL USE


=


=

%


NON-PERSONAL USE

=


=

%


S6:  INCOME SOURCES
NUMBER OR INCOMES:  1


   2


OTHER

TOTAL INCOME:  $ 


S7:  LIABILITY ANALYSIS
CATEGORY           PRE-TAX %

AFTER-TAX %
NEG. LEVERAGE






S8:  ANALYZING DEBT / FINANCIAL RATIOS

1.     TOTAL ASSETS







=


=


to 1

TOTAL LIABILITIES

2. TOTAL DEBT PAYMENTS







=


=


%

   AFTER TAX INCOME

3. CONSUMER DEBT PAYMENTS







=


=


%

        AFTER TAX INCOME

4.
QUICK RATIO       =
      LIQUID ASSETS









=

       = 

    to 1





CURRENT LIABILITIES

5.
HOUSING RATIO  =    FIXED HOME COSTS









=
                   =

       %




                  GROSS INCOME

S9:  INTEREST PAYMENTS

DEDUCTIBLE




NON-DEDUCTIBLE
         (With Limitations)

A.
HOME MORTGAGE




A.
CONSUMER

(
First Mortgage





(
Auto

(
Second Mortgage




(
Credit Cards

(
Home Equity Lines of Credit



(
Loans on Insurance

B.
INVESTMENT INTEREST



B.
INSURANCE LOANS


COST OF $1 DEDUCTIBLE INTEREST = $1 (1-MTB)


Example:


The Thompson family is in the 28% tax bracket and currently has a 30 year mortgage.


$1 (1-.28) =  $ .72

People are complaining because it is still costing you $ .72 for every dollar that you pay in interest on a loan.

S10:  BUDGETING

GOALS
=
WHAT YOU ARE TRYING TO ACHIEVE FINANCIALLY

BUDGET
=
A SYSTEMATIC PLAN FOR CASH MANAGEMENT.

· THE BUDGET SHOULD IDEALLY FLOW IN THE PURSUIT OF                

· ONE’S GOALS.

PROCESS
=
INVOLVES ESTIMATING “INCOME” & “EXPENDITURES”

USING THE TIME VALUE OF MONEY, FORECASTS  PV’S TO THE FUTURE (FV’S)

MUST ALWAYS ACCOUNT FOR INFLATION.
BUDGETING RULES:

1. SET REASONABLE GOALS.

2. BUDGET “SAVINGS” & “FIXED EXPENSES” FIRST.

3. MAKE “VARIABLE NECESSITIES” A PRIORITY.

4. USE “SET ASIDES” FOR BIG ITEMS.

5. PRIORITIZE WANTS & NEEDS.

6. MAKE SAVINGS & INVESTMENTS A TOP PRIORITY.

7. TRIM EXCESS EXPENSES  (START SMALL; THE LARGEST EXPENSES ARE NOT ALWAYS THE EASIEST).

BRAINTEASER:  HOW DOES A BUSINESS BUDGETING PROCESS DIFFER FROM THAT OF AN INDIVIDUAL?
UNIT 2 SUPPLEMENTARY MATERIALS
I. CORRELATIONS:

· POSITIVE 
-
ASSETS BEHAVE THE SAME.

· NEGATIVE
-
ASSETS BEHAVE TOTALLY OPPOSITY   

                       OF EACH OTHER (THIS HAPPENS VERY RARELY).

II. A SIMPLE RULE FOR DIVERSIFYING:

“TEN TO FIFTEEN STOCKS WILL PROVIDE A DIVERSIFIED PORTFOLIO.”

III.
BUDGETING
    -
DEFINED AS “THE ABILITY TO ESTIMATE THE

AMOUNT OF MONEY TO BE RECEIVED AND SPENT FOR VARIOUS PURPOSES WITHIN A GIVEN TIME FRAME.


ADVANTAGES:

1. REVEALS INEFFICIENT, INEFFECTIVE OR UNUSUAL 

                  UTILIZATION OF RESOURCES.

2. CREATES AN AWARENESS OF THE NEED TO CONSERVE RESOURCES.

3. FORCES THE ANTICIPATION OF PROBLEMS BEFORE THEY OCCUR.

STRATEGIES FOR IMPLEMENTING A BUDGET:

1. MAKE THE BUDGET FLEXIBLE ENOUGH SO THAT IT WILL WORK 

EVEN IF THERE ARE EMERGENCIES, UNEXPECTED OPPORTUNITIES OR CIRCUMSTANCES.

2. THE DURATION TYPICALLY REVOLVES AROUND 1 CALENDAR YEAR.

3. CREATE A GUIDELINE BY WHICH PLANNED RESULTS ARE COMPARED TO ACTUAL DATA.

4. ARRANGE EXPENSES INTO “FIXED” & “DISCRETIONARY”

5. SHORT-TERM RESERVES TO MEET DAILY REQUIRMENTS SHOULD BE KEPT IN INTEREST-BEARING ACCOUNTS THAT ARE PERFECTLY LIQUID.

6. INTERMEDIATE RESERVES TO MEET MONTHLY NEEDS FOR AT LEAST THREE MONTHS SHOULD BE HELD IN MONEY MARKET-TYPE ACCOUNTS.

III. PERSONAL FINANCIAL STATEMENTS

PRIMARY USES:

1. PROVIDE A STARTING POINT TO DETERMINE FINANCIAL GOALS.

2. USED TO OBTAIN CREDIT FROM A BANK OR MORTGAGE COMPANY.

3. HELP TO DETERMINE LIFE OR DISABILITY INCOME INSURANCE SHORTFALLS.

ADVANTAGE:

1. PROVIDES A REFERENCE POINT TO EVALUATE A CLIENT’S FINANCIAL POSITION RELATIVE TO HIS/HER GOALS.

DISADVANTAGE:

1. FMV – FAIR MARKET VALUE – BALANCE SHEETS MAY REQUIRE EXPENSIVE APPRAISALS & ASSET EVALUATIONS TO DETERMINE THE TRUE VALUE OF AN ASSET.

OTHER FACTS:

1. REFLECT ASSETS AND LIABILITIES ON AN ACCRURAL BASIS RATHER THAN A CASH BASIS.

2. ASSETS & LIABILITIES SHOULD BE PRESENTED BY ORDER OF LIQUIDITY & MATURITY.

3. MARKETABLE SECURITIES SHOULD BE SHOWN AT THEIR QUOTED MARKET PRICES.

IV. LEVERAGE – HOW DOES IT WORK?

· LEVERAGE ENABLES AN INVESTOR TO PURCHASE A LARGER ASSET THAN HIS OWN AVAILABLE FUNDS WILL PERMIT.  (FOR AN ADVANCED FORM OF LEVERAGING – SEE BUYING ON MARGIN BELOW)

· NEGATIVE LEVERAGING – THE RISK THAT THE INVESTMENT WILL NOT GENERATE ENOUGH CASH INCOME TO PAY OFF THE DEBT.

WHEN TO USE LEVERAGING
1. THE INVESTOR DOES NOT HAVE THE AVAILABLE CASH TO FINANCE THE PURCHASE OF AN ASSET.

2. WHEN THE INVESTOR CAN BORROW MONEY AT A LOWER RATE THAN THE EXPECTED RETURN ON INVESTMENT.

ADVANTAGES
1. MAY SIGNIFICALLY INCREASE THE RETURN ON THE INVESTOR’S EQUITY.

2. WHEN USED TO OBTAIN DEPRECIABLE PROPERTY, LEVERAGING INCREASES THE TAX BENEFITS TO THE INVESTOR.

DISADVANTAGES
1. “REVERSE LEVERAGING” – THE COST OF SERVICING THE DEBT EXCEEDS THE TOTAL RETURN.

2. LEVERAGING INCREASES THE RISKS OF THE INVESTMENT SINCE THE DEBT MUST BE REPAID.

3. BORROWING TO FINANCE THE PURCHASE OF AN INVESTMENT ASSET MAY PROHIBIT/RETRICT YOU FROM BORROWING IN THE FUTURE.

V. BUYING ON MARGIN

· WHAT IS A MARGIN ACCOUNT?  A MARGIN ACCOUNT IS ONE THAT ENABLES AN INVESTOR TO USE UNENCUMBERED SECURITIES TO BORROW CASH WHICH IN TURN IS USED TO PURCHASE ADDITIONAL SECURITIES.

ADVANTAGES
1. MINIMUM PAPERWORK INVOLVED.  THE PROCESS IS RELATIVELY SIMPLE.

2. THERE IS NO NEED TO SELL OR TRANSFER ONE’S STOCKS TO FINANCE THE LOAN.

UNIT 3 – THE TIME VALUE OF MONEY
TIME VALUE OF MONEY


The Time Value of Money Theory is an important explanation for the worth of money relative to the passage of time.  It helps a financial planner to evaluate different investments to give qualified advice to clients.  The theory is based on two interrelated and fundamental concepts:

1. A dollar today (Present Value) is worth more that a dollar tomorrow (Future Value).

2. A dollar received tomorrow (Future Value) is worth less than a dollar received today (Present Value).

Why do you think this is so?  Inflation?  Interest?  Alan Greenspan?  Of course not?  Rather, the theory is based on the “lost opportunity to invest”.  From financial operations, you will remember that when an individual makes a decision, there are opportunity costs that are associated with that decision.  Each day, people are forced to decide what to do with their money.  Should they invest in or should they spend it on a new outfit?  If the person chooses the former option, the investment holds the potential of generating investment income.  If the person goes to the mall, he or she forgoes the possibility of making additional income on their money.


Do not confuse Time Value of Money with the effects of inflation.  Although each can, in different ways, influence the worth of money, the impact occurs in very different ways.  Time Value of Money affects the worth of money whether there is inflation or not.  Even if you live in a world in which there is zero inflation, the use of your money by a bank, business, or a friend is still worth compensation.  Thus, not investing your money carries with it the lost opportunity to receive compensation.


As a financial planner, you will be asked to analyze potential investment alternatives.  Investments can be analyzed by each of the following criteria:

1. Risk

2. Yield or Rate of Return

3. Liquidity

4. Appreciation

5. Tax Characteristics

6. Leverage

7. Management

The Time Value of Money theory is especially helpful with #2, “Yield” or “Rate of Return.”  A rate of return on an investment depends upon how many dollars you receive and when you receive those dollars.  The faster your investment income arrives and the higher interest rate received, the better your overall rate of return will be.  Time Value calculations quantify alternative investments, making these investments easy to compare on a yield or rate of return basis.

To aid you in your learning, the use of a time line allows you to distinguish between problem elements (Present Value & Future Value).

TIME LINE


   2000
             2001
          2002              2003              2004             2005             2006

PRESENT







     

FUTURE

VALUE









VALUE

The time line is progressive and can move only from left to right.  So, your PVs will always appear at the left of the time line and your FVs will always appear at the right.  If you can discern when dollars were invested, you automatically identified the PV.  Dollars that are received are always identified as FV, whenever they are returned.


Words are confusing when identifying PVs and FVs.  Dollars invested yesterday are always labeled PV.  Dollars invested today are also labeled PV.  But, dollars withdrawn today are always labeled as FV because they had to be invested sometime in the past to have produced today’s value.  Finally, dollars received in the future are always labeled as FV.  The following examples point out possible confusion and help identify PVs and FVs correctly:


EXAMPLES:

A.
Several years ago, Tim Howard purchased a painting for $3,000 when he was in Europe.  Today the painting is worth $10,000.  Tim estimates the average annual compound rate of return on the painting was 17%.  Approximately how many years has Tim owned the painting?


What would be labeled as the PV and FV of this problem?





PV
=
$3,000






FV
=
$10,000

B. Kobe Bryant purchased $60,000 worth of gold coins 9 years ago.  The coins have appreciated 4.5% compounded annually over the last 9 years.  Today, what is the estimated value of the coins?

What would be labeled as the PV and FV of this problem?




PV
=
$60,000





FV
=
Unknown at this time

FUTURE VALUE CALCULATIONS

PRESENT VALUE


Invested to Become


FUTURE VALUE


If we know the dollar amount invested (PV), at a specified interest rate (i), for a specified period of time (n), we can accurately estimate what the FV will be.  In order to solve Time Value of Money problems, you must understand that the negative sign (-) is used to represent dollars invested (no longer immediately available to spend) whether in a stock, bond, or a savings account.  Invested dollars are put into the calculator as a negative number because dollars have moved out of your pocket, becoming allocated invested assets.  They are “yours” but they are not available for spending immediately like cash in your pocket.  


It is ALWAYS a good idea to take the extra moment to write the elements of a problem clearly down before entering them into the calculator.  That way, you will be less likely to either forget an important piece of the problem, or to enter in the incorrect information into the calculator.


Here is a typical problem that you might encounter:

A recently married couple decided to buy a house for $110,000.  They expect the house to appreciate at 5% per year.  What will the house be worth in 30 years when they have paid off their mortgage?





FV
=
$475,413.66

PRACTICE PROBLEMS:

1. $75,000 is deposited into a money market account paying 6% interest compounded annually.  What will the balance be in 12 years?

FV
=
$150,915

2. Use the same information in problem 1, however – change the interest compounding to quarterly.

FV
=
$153,261

3. Use the same information in problem 1, however, the interest is now compounded monthly.

FV
=
$153,806

4. Use the same information in problem 1, however, the interest is now compounded daily.

FV
=
$154,073

5. $5,000 is deposited into a savings account paying 5 ¾% compounded daily (360 days).  What will be the balance in:

A) 1 year?

B) 3 years?

A)
FV
=
$5,296

B)
FV
=
$5,941

CONGRATULATIONS!  IT LOOKS AS THOUGH YOU NOW HAVE A THOROUGH UNDERSTANDING OF THE TIME VALUE OF MONEY AND FUTURE VALUE CALCULATIONS.  

PRESENT VALUE CALCULATIONS

PRESENT VALUE


    Discount Rate


FUTURE VALUE


In the previous section, you learned that if you know 3 elements (PV, i, n), you could solve for FV.  It is just as easy to reverse the process to find PV if you know the other 3 elements.  Compounding interest in reverse (from FV to PV) is called “discounting”, hence the term “discount rate.”  Keep in mind the time line and the definition of discount rate as you begin the following problems.

EXAMPLE:

Today, Paul Wilson closed his passbook account at Nations Bank and withdrew $1,000,000.  He deposited the money 3 years ago and received an interest rate of 5 ¼%.  How much did Paul deposit originally?







PV
=
- $857,696.60


If you notice, your answer is a negative number.  Why is this?  The reason is that money represented by PV is money invested “out of pocket” as previously explained.  The money in this example was deposited 3 years ago into a savings account.  Be aware in finance that situations can arise, such as this one, where answers have a negative sign placed in front of them.  Use “The Test of Reasonableness” to help you determine if the negative should remain or be converted into a positive number.

PRACTICE PROBLEMS:

1. A client had his farm appraised recently at $305,000.  He inherited the land from his father 8 years ago.  What was the value of the farm if the land has appreciated at a 6% average annual compound rate?

PV
=
$191,361

2. Nelson Browning’s daughter, Kim, is going to Florida A&M today.  Nelson is not worried about college expenses.  He has $30,000 saved for Kim’s education.  How much had he originally deposited if the interest rate was 10% for the last 12 years?

PV
=
$9,559

3.
A bank customer invested in a 36 month Certificate of Deposit which will be worth $5,000 when it matures.  He will receive 9% interest on a monthly basis.  How much must be deposited to fund this investment?






PV
=
$3,820.74

4.
A mortgage holder has a $7,000 balloon payment due in 5 years.  She is considering whether to pay now or wait 5 years.  If the mortgage can earn 12% interest annually on another investment, what is the discounted amount she should be willing to pay now for the release of the balloon payment?







PV
=
$3,972

6. Mark Rickman expects to receive $100,000 from a trust fund in 9 years.  What is the current value of this fund if it is discounted 8% compounded semiannually?

PV
=
$49,363

INTEREST RATE CALCULATIONS

At this point, it is a good time to take a look at interest rate calculations.  Given a sum of money (PV) and knowing the FV for a period (n), we can determine the yield, (interest or discount rate) depending on the type of problem presented.

EXAMPLE:

Gretchen Brown has $25,000 which she intends to use to open a nail salon in 8 years.  At that time, she estimates that she will need a total of $50,000.  What rate of return must Gretchen receive in order to double her money by the time it is needed?







Yield
=
9.05%

PRACTICE PROBLEMS:

1.
Tony Wallace invested $3,000 for his one year old daughter.  He intends to use this fund for her education in 17 years.  Tony estimates he will need $40,000 at that time.  What average annual compound rate of return will he need to achieve his goal?







Yield
=
16.46%

2.
Pete Post purchased 300 shares of a total return mutual fund at $36.00 per share 8 years ago.  Today, he sold all of the shares for $15,360.  What was the average annual compound rate of return on his investment?







Yield
=
4.5%

3.
A bank customer put $2,500 in a savings account for his son on his 12th birthday.  Today, on his 21st birthday, the account has a balance of $4,000.  If interest is compounded quarterly, what was the average annual compound rate of return on the account?







Yield
=
5.26%

4.
Grant Hill invested $10,000 in a Certificate of Deposit (CD).  In 3 years when the CD matures, Grant will receive $15,000.  If interest is compounded weekly, what is the annual compound rate of return on the CD?







Yield
=
13.53%

5.
Dr. King borrowed $1,800 from her father to re-plumb her home.  She paid back $2,100 to her father at the end of 4 years.  What was the average annual rate of return of interest if it was compounded monthly?







Yield
=
3.86%

hint:  Do not forget to multiply the monthly interest rate (the initial answer) by 12 to compute the interest rate which is the requested annualized rate of return.

PAYMENT CALCULATIONS

If you know FV, PV, the interest rate (i) and/or number of periods (n), you can solve for unknown payment amounts (PMT).

EXAMPLE:

Your parents just received an inheritance of $125,000.  They want to withdraw equal periodic payments at the end of each month for the next 5 years.  They expect to earn 9.5% compounded monthly on their investments.  How much can they receive each month?







PMT
=
$2,625

PRACTICE PROBLEMS:

1.
Darrell Armstrong purchased a Jet Ski on credit for $9,000.  He wants it paid in full in 3 years.  What monthly payment should be made to attain this goal is his interest rate on the loan is 8%?







PMT
=
$282.03

2.
Tony Baker wishes to accumulate $300,000 for retirement at age 65.  He is 31 today and has decided to make payments quarterly into a money market account paying 7.8%.  What quarterly payments should he make?







PMT
=
$456

3.
Johnny Gill wants to purchase a new Lexus in 4 years.  He expects to spend $78,000 for the car.  If he earns an annual compound rate of return of 9% on his investments, how much should he invest at the end of each year to achieve his goal?







PMT
=
$17,056.16

4.
Calculate the payments on a $10,000 loan, at 12% interest, amortized 5 years, payable  quarterly.







PMT
=
$672

5.
Deanna Carter wants to purchase a home 8 years from now.  She anticipates spending $185,000.  To reach this goal, how much should Deanna invest at the end of each 6 month period if she expects to earn 11% annual rate of return, compounded semiannually on her investment?







PMT
=
$7,507.77


NUMBER OF PERIODS CALCULATIONS
Another variation on Time Value of Money calculations is solving for the number of periods (n).

Basically, if you have three known variables (elements), FV, PV, interest rate (i), and/or (PMT),

you can solve for the number of periods (n).

EXAMPLE:

Today, Paul Revere put all of his savings from the past three years into an account earning an annual interest rate of 6% compounded quarterly.  Assuming he makes no withdrawals or additional payments into this account, approximately how many years will it take to double his money?







n
=
11.64 years

PRACTICE PROBLEMS:

1.
Marsha Brady wants to save $75,000 to open a tax accounting office.  She recently received an inheritance of $15,000 which she can invest at 8% compounded semiannually.  If this is the only investment she can make towards her goal, approximately how many years will it be before Marsha has $75,000?







n
=
20.52 years

2.
How many years will it take to pay back a $25,000 loan, payable $3,500 per year at 10% interest?

n
=
13.14 years

3.
Garret Priesser purchased land for $2,500 last month.  His real estate agent was positive the land would appreciate at an average annual compound rate of 12.5%.  Garret wants to sell the land for $9,000.  How many years must he own the property to receive $9,000 when he sells it if the agent was correct?







n
=
10.88 years

4.
Erin Oaks wants to withdraw $1,000 at the end of each month from her $150,000 inheritance which she deposited in a money market account earning 6%.  How many years will it be before she has exhausted her inheritance?







n
=
23.16 years

5.
How many years will it take $5,000 to double at an 8% annual rate?







n
=
9.01 years

ANNUITY CALCULATIONS

You can probably think of many situations where a series of payments are made either to save money, pay a loan, or fund a retirement account.  Each of these situations and many others, can be classified as an annuity.  An annuity is either a series of payments received or deposits made.  Knowing the amount of each payment (PMT), the interest rate (i), and number of periods (n), you can calculate the FV or the PV of an annuity.



Annuity payments can be made either at the beginning or the end of a period (i.e. – at the beginning or the end of the month, quarter, or year).  If you make payments at the beginning of a period, you earn extra interest between the beginning and the end of the period.  If payments are consistently made at the beginning of the period, extra interest will compound and add a sizable amount to the total dollar accumulation.  But, if you are in receipt of these beginning period payments, this can cause a lump sum of cash to dissipate much faster.  Payments made at the beginning of a period are known as “Annuity Due Payments.”  Whereas, payments made at the end of a period are called “Ordinary Annuity Payments.”  Money accumulated by end peroid payments does not earn the extra interest, thus slowing wealth accumulation.  Conversely, money paid out at the end of a period, disperses a lump sum more slowly.


An easy way to remember the correct type of annuity is to think of the word “DO”, as a simple memory device.


“D”, which stands for 


D
O

“O”, which stands for “ordinary”,

due, appears at the 


U
R

comes at the end of the word (DO)

beginning of the word


E
D

like an annuity payment at the end 

(DO) like an annuity



I

of a period.

payment at the beginning


N



of a period.




A







R







Y


Listed below are terms and abbreviations that you should learn and understand:


Present Value Ordinary Annuity
=
PVOA


Present Value Annuity Due

=
PVAD


Future Value Ordinary Annuity
=
FVOA


Future Value Annuity Due

=
FVAD

Remembering all this new terminology can be difficult.  But simply breaking apart the word combinations, you should be able to easily identify their meaning.  

BRAINTEASER:  TWO ADDITIONAL TERMS CAN BE SUBSTITUED IN TO SIGNIFY WHETHER THE ANNUITY IS EITHER PAID/RECEIVED AT THE BEGINNING OR END OF THE MONTH.  THESE TERMS ARE: ANNUITY IN ARREARS & ANNUITY IN ADVANCE.  CAN YOU GUESS WHEN EACH OF THESE ANNUITIES IS PAID/RECEIVED?

EXAMPLES:

A) Sharon Albrecht deposits $500 at the end of each month to a mutual fund that has averaged 5 ¾% compounded annually over the past 10 years.  She intends to a make a down-payment on a house.  How much will she accumulate at the end of 5 years?

What type of problem is this?

Answer:  FVOA

How much will she accumulate?
Answer:  $34,662

B) $25 is deposited into a money market account at the beginning of each month at 10% compounded monthly for 1 year.  What will the balance be at the end of the year?

What type of problem is this?

Answer:  FVAD

What will the balance equal?

Answer:  $317

Hint:  Make sure that your calculator is in the beginning payment mode before you begin this demonstration problem.

C) An annuity will pay $500 at the end of each month for the next 10 years.  Based on a discount rate of 9%, what amount must be deposited to fund this investment?

What type of problem is this?

Answer:  PVOA

What amount should be deposited?
Answer:  $39,471

D)
A sum of money was deposited at 6.5% in a Money Market for Dan’s son’s college education.  His son will receive $1,000 at the beginning of each quarter for 4 years.  How much did Dan deposit to provide for these payments?



What type of problem is this?

Answer:  PVAD



How much was deposited?

Answer:  $14,217

Hint:  If the compounding of the interest rate (yield) is not stated in the problem, ALWAYS assume that the rate is compounded on an annual basis.
PRACTICE PROBLEMS:

1. $750 is deposited at the end of every 6 month period.  At 8% interest, what will be the balance in 5 years?

Answer:  FVOA  =  $9,005

2.
Terry Torbert has been investing $2,000 at the end of each year for the past 20 years.  How much has accumulated assuming she has earned 8% compounded annually on her investment?







Answer:  FVOA  =  $91,524

3. Mr. Christensen put $5,000 at the beginning of each year into a Keogh Plan at an annual compound rate of 9%.  What will be the balance in 15 years?

Answer:  FVAD  =  $160,017

4.
Harold Carmichael wants to accumulate $65,000 for a down payment on a commercial property in 4 years.  He can invest $1,100 at the beginning of every month for the next 4 years.  He expects to earn 10% compounded monthly on his investment.  Will he be able to reach his goal?







Answer:  FVAD  =  $65,133;  Yes, he will.

5.
Colleen Dugan’s car payments, including principal and interest, are $255 at the end of each month.  She has a 4 year loan with an 11% interest rate compounded monthly.  What was the amount of Colleen’s original loan?







Answer:  PVOA  =  $9,866

6.
Geraldo Rivera was injured at work, and won a judgement that provides him $1,100 at the end of each 6-month period over the next 10 years.  If the escrow account that holds his settlement award earns an average annual rate of 11.5% compounded semiannually, how much was the defendant initially required to pay Geraldo to compensate for his injury?







Answer:  PVOA  =  $12,877

7.
A client is paid $250 for 5 years at the beginning of each quarter form an insurance annuity which earns 7.5% interest compounded quarterly.  What was the balance 5 years ago?







Answer:  PVAD  =  $4,215

8.
Cotton Fitsimmons wants to withdraw $1,000 at the beginning of each month for the next 7 years.  He expects to earn 10% compounded monthly on his investments.  What lump sum should Cotton deposit today?







Answer:  PVAD  =  $60,739

9.
Phil Niekro has been dollar cost averaging into a mutual fund by investing $1,200 at the beginning of every quarter for the past 9 years.  He has been earning an average annual compound return of 11% compounded quarterly on his investment.  How much is the fund worth today?







Answer:  FVAD  =  $74,226

10.
Joe Lewis will receive $35,000 at the end of each year for the next 5 years from a lottery.  His opportunity cost on investments is 9 ¾% compounded annually (assuming he received the money today).  What is the present value?







Answer:  PVOA  =  $133,529

11.
Brian Swatts wants to deposit a sum today that will be dissipated in 10 years.  He wants to withdraw $1,000 at the beginning of every 6-month period and expects to earn 11% compounded semiannually on investments.  How much does Brian need to deposit today?







Answer:  PVAD  =  $12,608

12.
Patty Lovelace has been investing $1,500 at the end of each year for the past 15 years.  How much has accumulated assuming she has earned 8.5% compounded annually on her investment?







Answer:  FVOA  =  $42,348

SERIAL PAYMENT CALCULATIONS

Inflation is an economic reality.  Inflation-adjusted payments are important to maintain a constant standard of living.  Serial payments compensate for inflationary shrinkage by raising the dollar amount of each payment.  


The interest rate used for a serial payment calculation is not simply the difference between the inflation rate and the after-tax return.  Instead, a more appropriate measure is needed that combines the following two elements:

A. Compounding a payment based on an inflation rate.

B. Discounting a payment based on an after-tax return.

To determine the measure, please follow the equation below:


The following is a PV Serial Payment example:


Your client wishes to receive the equivalent of $25,000 in today’s dollars at the beginning of each year for the next 5 years.  She assumes inflation will average 4% over the long run and assumes she can earn a 7% compound annual after-tax return on investments.  She wants to invest a lump sum today to fund this need and to dissipate the fund at the beginning of the 5th year.  What lump sum should be invested?

TIME LINE OF PRESENT VALUE SERIAL PAYMENTS

Lump sum needed

@ 4% inflation rate


+

+

+

+

+

+


0

1

2

3

4

5

      $25,000
      $26,000            $27,040
       $28,122           $29,246
       $30,416


Step 1:

Identify data.




PMT 
 
=  $25,000




       i   

=  7% after-tax return




       n

=  5 years




       r

=  4% inflation rate



            PV(AD)
=  ???


Step 2:

CLEAR CALCULATOR!


Step 3:

Enter data.




Press: 

25,000 PMT

1.7 / 1.04 = -1 = x 100  I%YR

5 n

PV

Answer:  $118,184
Hint:  The discount rate is always entered as the interest element (i) once computed.

Serial Payments of a Future Sum calculations are helpful in determining the amount of periodic savings needed to attain a future goal.  The periodic savings must increase annually with the rate of inflation to finance a constant standard of living.  The calculation of unknown serial payments includes three unknown variables:  FV; discount interest rate (d); and the number of periods (n).  The preceding example should help to clarify the concept in greater detail.

Your client wishes to save $50,000 in today’s dollars in 5 years.  He expects an annual after-tax rate of return of 9% and inflation rate of 6%.  What is the amount of savings needed at the end of years 1 through 5?






Answer:  $9,450
Hint: The answer must be multiplied by the inflation rate (1.06) to get the correct answer for the first year and subsequent year’s payments.  Remember, these payments are being made at the end of the year after a full year of inflation’s affect.
TIME LINE OF SERIAL PAYMENTS OF A FUTURE SUM










Lump sum needed @










6% inflation rate


+

+

+

+

+

+


0

1

2

3

4

5

      $9,450




     $10,017



   ($9,450 X 1.06)           $10,618

                                        
     ($10,017 X 1.06)
        $11,255







      ($10,618 X 1.06)
         $11,930









           ($11,255 X 1.06)       $12,646











       ($11,930 X 1.06)

PRACTICE PROBLEMS:

1.
Tom Draper wants to receive an equivalent of $10,000 in today’s dollars at the beginning of each year for the next 6 years.  He assumes inflation will average 3% over the long run, and he can earn an 8% compound annual after-tax return on investments.  What lump sum does Tom need to invest today to fund his needs?







Answer:
PVAD  =  $53,470

2.
Wayne Gretzky needs an income stream equivalent to $45,000 in today’s dollars at the beginning of each year for the next 10 years to maintain his standard of living.  He assumes inflation will average 7% over the long run and he can earn a 9% compound annual after-tax return on investments.  What lump sum does Brian need to invest today to fund his needs?







Answer:
PVAD  =  $414,605

3   
Tim and Cyndi Howard are ready to retire.  They want to receive the equivalent of
    

$75,000 in today’s dollars at the beginning of each year for the next 20 years.  They assume inflation will average 5% over the long run and they can earn an 8% compound annual after-tax return on investments.  What lump sum do the Howard’s need to invest today to attain their goal?






Answer:
PVAD  =  $1,162,997

4.
Janet Evans wants to receive the equivalent of $50,000 in today’s dollars at the beginning of each year for the next 15 years.  She assumes inflation will average 10% over the long run, and she can earn an 8% compound annual after-tax return on investments.  What lump sum does Janet need to invest today to fund her needs?






Answer:
PVAD  =  $855,476

5.
Ted Turner wants to retire in 8 years.  He needs an additional $500,000 in 8 years to sufficiently finance his objectives.  He assumes inflation will average 5% over the long run, and he can earn a 10% compound annual after-tax return on investments.  What serial payment should Ted invest at the end of this year to attain his objective?





Answer:
PMT (OA)  =  $52,809 x 1.05   =  $55,449

6.
Sarah Mizelle wants to retire in 5 years.  She needs an additional $100,000 in 5 years to have sufficient funds to finance this objective.  She assumes inflation will average 6% over the long run, and she can earn a 9% compound annual after-tax return on investments.  What will be her first and second year’s payments?



Answer:  PMT  =  $18,900 x 1.06  =  $20,033  -- Year 1



  
                  $20,033 x 1.06  =  $21,235  --  Year 2

7. Darrell Armstrong wants to quit working in 10 years.  He needs an additional $250,000 to have sufficient funds to finance this objective.  He assumes inflation will average 4% over the long run, and he can earn 6% compound annual after-tax return on investments.  What serial payment should Darrell invest at the end of the first year?

Answer:  PMT (OA)  =  $22,912 x 1.04  =  $23,829

8. Bob Marley wants to start his own business in 6 years.  He needs to accumulate $150,000 to sufficiently finance his business.  He assumes inflation will average 4%, and he can earn an 8% compound annual after-tax return on investments.  What will be his serial payment at the end of the first and second year to attain his goal?

Answer:  PMT (OA)  =  $22,702 x 1.04  =  $23,610  -- Year 1

      


    $23,610 x 1.04  =  $24,554  -- Year 2

INTERNAL RATE OF RETURN CALCULATIONS


As a financial planner, you are often asked to solve for an investment’s Internal Rate of Return.  This rate of return is a measure of yield encompassing three elements:  proceeds (which come from a liquidation, transfer, redemption, or sale of an investment); cash flow (which comes from periodic payments of interest, dividends, net rentals, etc. from an investment); and time (holding period).  An Internal Rate of Return not only accounts for capital gain or capital loss but also for payments made by one of the three payment patterns during the holding period:

· no periodic cash flow

· equal periodic cash flow

· unequal periodic cash flow

Each of these scenarios will be discussed in great detail in the following pages.

IRR WITH NO PERIODIC PAYMENTS:

This type of investment has no periodic payment (cash flow).  Rate of Return will be capital appreciation (hopefully), as it relates to time (i.e. – the holding period).  You can solve for investments of this nature the same way you would solve a regular FV or PV problem.  First, determine the unknown 4th element by plugging in the 3 known elements.  Examples of investments with no periodic cash flows include zero coupon bonds and one-time only transactions in physical assets.

EXAMPLES:

1.
David Langdon wanted to place money he received from his dad into a safe investment to be used for his daughter’s education.  He decided to buy 10 zero coupon bonds priced at $238.00 each.  The bonds will mature in 15 years at $1,000.00 each.  Since these are zeros, there are no payments until maturity.  What is David’s IRR on this investment?


         PV
              Time Line

       FV



         0     1      2     3     4      5     6      7     8     9     10   11   12   13   14   15





             Periods


Step 1:

Identify know elements




PV
$238 x 10 = $2,380




FV
$1,000 x 10 = $10,000




  n
15 years




IRR
???


Step 2:

Clear Calculator


Step 3:

Enter data

2380 PV

10000

FV

15 n

I%YR



Answer:
10.04%
2.
Ricky Martins purchased 8 gold coins worth $700 each.  He held them for 9 years before deciding to sell them for $7,175.  What was the IRR on this investment?






Answer:
2.79%
IRR WITH EQUAL PERIODIC PAYMENTS:

Time Line









Future Value


Present 



                                    plus final



Value

PMT

PMT

PMT

      payment




 0

    1

    2

    3


  4


Some examples of investments with equal periodic payments are most bonds, preferred stock, and leases.  The following illustrations will demonstrate how to solve for the IRR for an equal periodic payment investment.

EXAMPLES:

1.
Judy Mckenzie purchased a U.S. Treasury Note with a coupon rate of 9%, paid semi-annually.  The bond will mature in 5 years.  She purchased the bond in the secondary bond market for $1,100 (Premium or Discount?).  What was the IRR of this investment?


Step 1: 
Identify known elements.




PV

$1,100 (purchase price)




PMT

$45 (9% of $1,000 = $90 annually / 2 pmts)




n

10 years




FV

(bond’s matured value)


Step 2:

Clear Calculator


Step 3:

Enter data




-1100

PV

45 PMT

10 n

1000 FV

I%YR



Answer:
6.62%
2.
Donald Gailey purchased 75 shares of General Motors preferred stock for $35.00 per share.  It paid him a dividend of 5.5% paid quarterly.  He held the stock for 1 ½ years before selling it at $28.00 per share.  What was the IRR of this investment?






Answer:
-8.56%
IRR WITH UNEQUAL PERIODIC PAYMENTS:
Time Line









Future Value


Present 


NO
                                    plus final



Value

PMT

PMT

PMT

      payment




 0

    1

    2

    3


  4


Investment vehicles such as mutual funds, stocks, limited partnerships, and income producing investments have uneven payment distributions combined with capital gains or losses.  Often the cash flows from these types of investments are closely related to the economic cycle and thus profits will vary depending upon the economic climate; when economic conditions change, so too will the profits of corporate America.  To arrive at an IRR solution for these problems, each payment distribution must be entered into the calculator separately.  This is true even if no payment is made in certain years (as in year 2 from the time line above).  To accomplish this, simply enter a zero cash flow into the calculator.  It may seem like a waste of time for you, but the information is vital in helping the calculator to generate a solution to your problem.  By entering a zero cash flow, the calculator now understands that another cash flow period has passed.

EXAMPLES:

1.
Four years ago, Don McCoy purchased a stamp collection for $1,000.00.  He added to his collection by purchasing an additional $300.00 in stamps during the first year, $0 the second year, $300.00 the third year, and another $200.00 the fourth year.  The collection was sold in year four for $3,000.00.  What has been the IRR on Don’s investment?

Time Line









Future Value


Present 


NO
                                    plus final



Value

PMT

PMT

PMT

      payment


-$1,000
-$300



-$300

($3,000 - $200) or $2,800




 0

    1

    2

    3


  4


Step 1:

Identify known elements.




Original Cash Outlay

$1,000




Year 1 Cash Outlay

$   300




Year 2 Cash Outlay

         0




Year 3 Cash Outlay

$   300




Year 4 FV – Cash Outlay
$2,800


Step 2:

Clear calculator


Step 3:

Enter data




-1000

PV




  -300

PMT

0 PMT

  -300

PMT

  -200

PMT

  3000    
FV

       4

n




Answer:
18.18%
2.
Bill Dance purchased 150 shares of Washington Mutual bank stock for $50.00 per share.  He received dividends of $.58/share in the first quarter, $.62/share the second quarter, $.00/share the third quarter, $.32/share the fourth quarter, and $.45/share the fifth quarter.  At the end of the fifth quarter, he sold his investment for $52.00 per share.  What was the IRR for this investment? 







Answer:
6.27%
PRACTICE PROBLEMS:

1.
Maury Povich purchased a put option on BMX Racing, Inc. for $430.  The exercise price was $35, and the market price for BMX was $36.  Six months later when Maury sold the put, the market price for BMX was $29 and the price of the put was $1050.  What was the IRR on his investment?







Answer:
288.37%

2.
Charlie Ward purchased a call option of MSG Corp. for $250.  The exercise price was $20 and the market price was $18.  Three months later when Charlie sold the call, the market price for MSG was $19 and the price of the call was $75.  What was the IRR on this investment?










Answer:
-280%

3.
Greg Maddux invested $50,000 in newly issued 5 year Treasury Notes, three years ago.  he received payments of 10.75% semi-annually.  Today his bonds are worth $56,358.  What was the IRR on this investment?







Answer:
14.29%

4.
Meg Ryan purchased 15 units of a tax-free unit investment trust to fund her retirement. She bought each unit for $967.09 and has received $1,500 total annual payment, paid quarterly for 8 years.  He sold his UIT for $1,016.70 per unit at the end of the eighth year.  What was his IRR on this investment?







Answer:
10.75%

5.
Tom Selleck bought 200 shares of Universal, Inc. at $14 per share.  He held the stock for 

four years and sold it at $22 per share.  In years 1 and 3 he received annual dividends of $130 and $170 respectively.  What was the IRR on his investment, ignoring commissions and transaction fees?

Answer:
14.36%

6.
Danny Weurfel purchased 100 shares of General Mills at a cost of $4,000.  He held the stock for three years and sold it for $3,000.  In years 1, 2, and 3 he received dividends of $250, $150, and $100.  What was the IRR on his investment ignoring commissions and transaction fees?

Answer:
-4.62%

STATEMENT OF FINANCIAL POSITION

(AS OF ____________________)

“SNAP SHOT”  -  POINT IN TIME

ASSETS  -
What you own

LIABILITIES  -
What you owe

INVESTMENTS







TOTAL LIABILITIES   $




PERSONAL USE



NET WORTH    $








(Assets minus Liabilities)












TOTAL ASSETS: 

 


LIABILITIES & NET WORTH 

 $






         $

CASH FLOW STATEMENT
(FOR THE PERIOD ENDING ______________)

INFLOWS

$                                                   









TOTAL INFLOWS:

$ 




OUTFLOWS
SAVINGS & INVESTMENTS



$ 

FIXED:

$ 










TOTAL FIXED:

$




VARIABLE:

$












TOTAL VARIABLE:
$





TOTAL OUTFLOWS:
$ 

THE CURRENT RATE OF RETURN MATRIX

Asset


Current

Est. Avg.

% of
        Weighted

       Description

Amount

 Return


Total
         Est. ROI
NOT TAXED








SUB-TOTAL:






100%

TAXED







SUB-TOTAL:






100%








times

         (1-mtb)










AFTER-TAX:

NOT TAXED

CURRENTLY TAXED


TOTAL:









   AFTER TAX ROI:


KEY OBSERVATIONS:






DOLLARS RECEIVED OR WITHDRAWN = FUTURE VALUE





DOLLARS INVESTED OR DEPOSITED = PRESENT VALUE





PMT	+   PMT   +   PMT   +   PMT   =   FUTURE VALUE (FV)


(accumulation of a sum of money)





PRESENT VALUE (PV)   =   PMT   +   PMT   +   PMT   +   PMT


(disbursement of a sum of money)





1 + i 


                        d  = 	                 - 1  x  100


1 + r	





		d  =  discount interest rate


		i   =  after-tax interest rate


		r   =  rate of inflation








